mEEtSIv7aVTUY

WA DBEELS S w5 2T U HETHRESHA SN, 5
BEET7IVS—2a3 O LD CERICHERS LF-RETIC
BoThYES, ARRLEREE. EETRY. Bhi-
BEREEREAT TS —a VIELTHY =T,

B E A&
- INEY B ERSR R - LY
- [BEE RS - BEER
- ITRFVEHA-RIMT - RETLVASBREETEE
- EFEEIF50kV DCETHAE - FREREK

- EFIEMEE. vovoAd1-—7

FH oI B IR IE -
ﬁ% BAE E*%I_IJIL ﬁﬂﬁ%@’fj

T B 5
5 . ESIILYS)

NY5T3M561K10KV 560 24 20 18 NAX4
NY5T3M122K10KV 1200 10 30 20 18
NY5T3M282K10KV 2800 40 20 18 N5X4
NY5T3M502K10KV 5000 52 20 18
NY5T3M281K20KV 280 24 26 24 NAX4
NY5T3M881K20KV 880 30 26 24
NY5Y3M142K20KV 1400 20 40 26 24
NY5T3M252K20KV 2500 52 26 24 M5X6
NY5T3M402K20KV 4000 60 26 24
NY5T3M591K30KV 590 30 31 29 M4X4
NY5T3M941K30KV 940 +10 20 40 31 29
NY5T3M172K30KV 1700 52 31 29 M5X6
NY5T3M272K30KV 2700 60 31 29
NY5T3M441K40KV 440 30 36 34 M4X4
NY5T3M701K40KV 700 40 40 36 34
NY5T3M132K40KV 1300 52 36 34 M5X6
NY5T3M202K40KV 2000 60 36 34
NY5T3M371K50KV 370 30 41 39 M4X4
NY5T3M60TK50KV 600 50 40 41 39
NY5T3M112K50KV 1100 52 41 39 M5X6
NY5T3M172K50KV 1700 60 4 39

B S5 (mm) T 517

HaES BE

TR R T N et
20 22 18

NY5Y5P251K15KV 250

NY5Y5P501K15KV 500 15 24 22 18 M4X4

NY5Y5P102K15KV 1000 36 22 18

NY5Y5P251K20KV 250 24 26 22 MAX4

NY5Y5P501K20KV 500 +10 20 30 26 22

NY5Y5P102K20KV 1000 40 26 22 M4X4

NY5Y5P251K30KV 250 30 24 30 26 "

NY5Y5P501K30KV 500 36 30 26

NY5Y5P251K40KV 250 30 35 31

NY5Y5P501K40KV 500 Y 40 35 31 L

NY5Y5P251K50KV 250 50 34 35 35 M4X5

NY5Y5P501K50KV 500 52 35 35 M5X5
HV Component Associates HVCA and CKE are subsidiaries CKE
Farmingdale, NJ 07727 of Dean Technology Lucernemines, PA 15754
(732) 938-4499 D A (724) 479-3533 E KE
www.hvca.com TECHNOLOGY www.cke.com



HVCA

HH %
BERE -20°C+85C
HERE EAREFE N
REFE HERELIL
Ak (D.F.) &Y 3758
FEEE proalis| EEhEl
HEZER >104MQ
-3 NEEEE M5 BE 1S0 M4
1.5Nm (&K)
FHan 5181 +20% 5. 0%
T WE(E F=X1000MQ LA T
D.F. ZL0RMaEL
I.R.
EE SV 8 +20% 5.0%
(EEKRE) T HZEE =& K1000MQ LIKT
D.F. ZLULW\RMaiz L
[.R.

*Eig 15 ~35C-14E/E 45~ 7545/ 86~ 106kPA

TR &M

FEAREIL1x0. 1kHz, 1 ~5ACrms(Z T25°CHFEIE

HESEEFLRADORMLRRTITS,
Sep3DEMN LFFERE LTH %
BATIEESEWL

AR (X1£0. 1kHz, 1~5ACrms|Z T25°CHFAIE

HBIRIA, BT RPICTE0L5FMH.
EHD150% D EFREE ZENm

60+=5F>FEIFEE. 1000VDCZBIE

BERIZVT HERT T BEFICIE,
WFRIZTT MIBRE TR T TT S

85+2° CYYavt{ =100~ 1258FR.
EHED125%DE R EE ZENmM
A=AV E c VT HEEREET
4B R TE

HEXTREEIO~95%, 40£2° CT
100~ 1258537 VY & F
B AM=MVE - T HEERERE T
245 ERTF

HV Component Associates

Farmingdale, NJ 07727
(732) 938-4499

www.hvca.com

HVCA and CKE are subsidiaries
of Dean Technology

()
TECHNOLOGY

CKE
Lucernemines, PA 15754
(724) 479-3533

www.cke.com

A
\ & /



HVCA

FiET—2

Farmingdale, NJ 07727
(732) 938-4499

www.hvca.com

of Dean Technology

()
TECHNOLOGY

J3M (N4700) EREHHE . T3N; (N4700) ka5 T3N1|U(N4700) EEEEGH
) 0 ] Mg
-2 HHEL .
2 3 4 8 —
- 10 b . I D —
= = = .
S 0 Bzl ) b 3 g s
& & 10 &
0 # 1 4 H
= 1 = .14 i
-16 2
NI g% 8 Hig s it .
40 T 20 munfill 0
N 2 M p
50
40 20 0 20 4 60 8 10 10 10 1000 0 2 40 60 0 10
SREE%) AR E (kHz) EREKREE %)
Y5P (BN132) iREEHs 4 y Y5I2’ (BN132) BiR&iE . Y51I;(BN132) FEEERH
8
‘ " . [ N o |
o HEEIL T TN ST
4 9 2 14 0 —
2 8 -4 12
0 Bzl —7 s 0 4
S 6 e S
= 4 5 g 3 ’ b
g ; . gﬂﬁ(-o 6 g-zo
# -1, 1 ! £
10 B R 5 -14 Bt | 2 20
— — LLHHH—
12 1 16— 0
14 0 18 -2 -40
40 -0 0 20 40 60 8 100 10 100 1000 0 20 40 60 80 100
SRE%) AR E (kHz) EREKREE %)
12Y5P (BN172) ;B Y5P (BN172) it Y5P (BN172) 2B E{%E
. 2 10
s || T || R
4f—= {1 0 - of— | HHEZE L
0 B N 14 1 6 5 ——=
g 110 o 2 ~ 10
R | |8 pias | B
s 3 —|— 2 & 5
+r .16 74 +r +r
6 -30
8 g 1 7 0 %
SRR : g
24 B S i 0 3 40
2 ‘ P 10 100 1000 0 2 40 60 80 100
4 20 0 2 4 60 8 100
BE® FERE (kHz) EREREE
AREFERLICERT 2HANHENETS,
HV Component Associates HVCA and CKE are subsidiaries CKE

Lucernemines, PA 15754
(724) 479-3533

www.cke.com

Rev6/12



